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1. Find the equation of the straight line that passes through point P (1, 6) and is perpendicular (Z-
® ) to the straight line x+3y+3=0 is . (A)3x-y+3=0 (B)x-2y+11=0 (C)2x+y-8=0 (D)4x-
2y+5=0

<fE47>

x+3y+3= O—>y———x 1> & &=

MX(—g)——l » m=3
AL p-6=3(x-1) > y=3x+3 & A -

2. ¢ ke 4=5 P 8= :
(A) V5 (B) 2V5 (C) 3V5 (D) 5V5
<fE# 7>
4=5P27=5 » 2'=/5
R 8 =(2°)=(2%)’=(v/5y’=5v5 » £ D -
3. 222300 @ :
(A)x>3 & x<-12 (B)x>3 & x<-12 (C) -12<x<-3 (D) -12<¢<3
<f# 7>
£_3<092x3 -3x-9

. x+12

<0 ’ x+3 _0

>O (x+12)(x+3)>0 > & x#-3
x> 3 x<-120 5 Ao
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4. Circle C:(x-1)*+(y-3)*=8, straight line L:x + y+4=0, the closest distance to L for any point on

circle Cis .(A) V2 (B) 2v2 (C) V3 (D) 3+2
<ﬁ;’+fr>

[1+3-+4|
d(O, L)= W—«F
(x-1)*+(y-3)*=8>r=212

BEpEdm 542 -2V2=2V2 5 E Bo

5. ¥ S y=xP-axta-1 2 B E e y=x-2 2.+ 3 > Ka 2 F#F?
(A)a<-1 (B)a>-1 (C)-1<a<3 (D)l<a<3

<f#{7>

T % XER » x’-axta-1>x-2 j5 & =

x>+ (-a-Dx+(a+1)> 0

. D=(-a-1Y-4(a+1)<0

C.a?-2a-3<0 0 (a-3)(a+1)<0

Jo-l<a<3 5 iE Co

6. ¢ arit FHox >y ik X 2x%-xy-p?=2025 > B 2x-y | (B & :
(A)S4 (B)63 (C)60 (D)57
<z 41>

" 2x2-xy-y*=2025
J(2x ) (x-y)=2025
£ 2xty=m > x-y=n > Bl m~n>0> & mn=2025

. - m+n m-2n
i x= P
mtn m-2n m+4n 2V4mn 4Nmn 42025

] Doyt e i, 2 W WP 60 4 38 C -

7. Ex 5 ERD# =2t 13Vx-6xtA5ehg o B s e
(A) V96 (B) V106 (C) V116 (D) V126

<ﬁzﬁ%>

y—\/x2+4x+13+\/x2 6x+45=/ (x+2)249+/ (x-3)2436=y/ (x+2)2+(0-3) 2+/ (x-3)2+(0+6)>

5 &8 P(x, 0) A(-2, 3) ~ B(3, -6)ehiEdt{-PA+PB
¥ PvA~B R PA+PBeik | & % AB=V5°+9°=\106 > £ B -

8. W I Be flxt5)= )4 = P F Hex g1 2 o 3k B flo)=2x+T 0 R
(A) f(5=17 (B)f(-36)=15 (C)f(0)=0 (D) £(1003)=23

< ffz; 7>

3<x<8

@ x=5 » A5)=5x2+7=17

® f(-36)= f(-31)= f-26)= -2 1)= A-16)= f-11)= f-6)= f-1)= fiky=4x2+7=15

® R0)=A5)= 5x2+7=17

@ f1003)=A(5x199+8)=A(8)= 8x2+7=23 » i£ C -
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<f# 5>

DIREFIR-T R - A P AR EY Z oIk

=71-(6!4+6!4+6!-5!-5!-51+41)

=5040-(2160-360+24)

=3216 &

2. #r3f ehp :‘rgﬁ» L BT T2 S 6 kT EATHI(E 0~ 1 F 3H) 0 PR - kP (B R D
SRR WLE SRR A S o S
<fa45>

L= r#kx i p T #HEPx>=100P+x

x2-x=100P =Dx(x-1)=100P=100 1% H=5>x2% {112 #ic
xR (-1)e - BE2S i ¥ - B A4 ik

@x—25—>x 1=25-1=24 §_4 eh 2 #(£ 32)

@x=50—x-1=50-1=48 # #_4 0z H(* &)

Ox=75—-x-1=75-1=74 % {_4 cniZ #(7 &)

@x-1=25—x=26 % £_4 thiz #c(F &)

Ox-1=50—x=51 % _4 2 f (7 &)

©x-1=75—x=76 4_4 i fix( & 1)

R L EE S HcH 76~ 25

. : : : b*
3. Suppose the integer part of v/ 7+4+/3 is a and the pure decimal part is b, then the value of at—
is .
<izi7>
V74332 742V T2=A+/3=21/3=3+(/3-1)
Jﬁfgx RA a=3 > b=y/3-1

(\/—1) 423
3+1(x/‘1) 3+2\/_

=3+2=5

International Mathematics Contest (Taiwan)  {£Z£(10 5F4R)



611:1

4. X n ’ELB I/”L\gt ’ ﬁi: IJ<an>mlLLﬂ‘3’ fod l“ A Y {a_n_a,,_1+ 1 (n>2) ? ajo— IOXE 2l 'ﬁ ﬁﬁct
- a1
n n-1l 2"
<f#{7>
a a 1.1 13 3 221
alz ) _2:_1 —_— —_ a2:2><_:2>(_1
2 1 21 22 2 2
1 3 17 7 231
ay _ap _2:__|__:_ ; a3:3><__3><_2
32 222 4 4 4
ag a3 1 7 115 15 241
—_— T — —— —_ Y :4)( — —
4 3 24 88 4 23
L | 210 1_ 03
5. © s logatlogh=2 » F 10" +10"¢ 2_ & | & A o
<f#{7>
logay 1 ()logb loga 1 ()logb loga 1 ()logb
P > TOPFX IO T D>\ TOE T > 2 >\/T07=10
10841 0log> >20
6. If the mean of numerical data x, x,....... , Xn is 15, and the standard deviation (1 # %) is 4, if

yv=-3x7+1, (i=1, 2, 3,....., n), find the standard deviation of y, y»,....... , Vn to be
<fE47>
nye-3xt]
6,=|-3|c,=4x3=12

TR AL RS AS R R A TEF Y 59 71? 3> =25,
9 3 F 4 ﬁ‘*ﬂ* T BEFEAES- B ff_ﬁiﬁﬂ A E FE O Pl R E- Kij‘}w%\ ¥
o 2 o

<fats>

a4 A
Tif_ﬁ'ﬁ .=E'A m—zlo

_ e Ak _
EJPé‘ TR %iﬁ—f 210
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8. 1MmEZAF®2024B > FET X2 FXg0tw- 2 chFg g
AEFOCWASBF O FZAFZEEAF - A frs T FAE 2 e 2 hE - A DEE
A RXPFE2 oo B XA E A i e

<jais>

AF 1 XINETEAPAELYE ar~ax~az~as~as~ as -~ ar
¥ artarytastastastagta;=2024---O

as=a;tar

as=ar+razy=arta,rar=a,+2a»
as=astas=a\tata\t2a,=2a,+3a,

C.ae=3a1t5a; ~ a=5a1+8a;

d OF: 13a;+20a,=2024

, 2024-20a; 13x155+9-13a3—7a
o= S——=155-a

B~ a,=5—a;=155-5-2=148

2 a=148+20k » ar=5-13k (k 3 % #)
148+20k245 * 142+20k<5-13k ¥ -5=<h<d >
B f=-5 D a1=48 » ;=70 > a=48+70=118

= 5IEEEE 10 77 - #£20 7)) SCRRHHEBELS T

LA S 2 5 F S 1 (2) ~ (-4) ~ (eFDAR I3 2 fD)=-15 5 &

fo=____ -
<fE47>
£ fx)=a(x-2)(x-4)(x+1)+3
A= ax(-1)x(-3)x(2)+3=-15—a=-3
S S0)= -3(x-2)(x-4) (x+1)+3=-3x*+15x>-6x-21

2. Assume p is a prime number. If both roots of the equation x?-px-580p=0 are integers, then p

<fati>
x2-px-580p=0
A IX(580p) PP 21 x5x29p s
x= =

’ 2 2
D=p*+2*x5x29xp 8 % > T = #
Op=2=> D=2*+2'x5x29x2=2>x(1+2°x5x29)=2?x1161 * & % > T = #

@p=5> D=5"+2*x5x29x5=52x(1+2%x29)= 52x465 * & % > T = #ic
®p=29=> D=294+2*5x29x29=29’x(14+2*x5)=29°x9* §_% > T = #
_29+29x9 €7 B p=29
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